BIRFE 1 BREH

2012.11.19

m z=1/5¢&L,

LB ZOEE, [T —T,| < 107190 % 2§ {4 n Offi% ¢ L. BEHHIL, logyy2 = 0.301
PHOGTH Lo,

(88) log;n2=0.301 £ log,oz =log;y2—1logyn10 = —0.699 TH 2 I LR L 72\, =A% L K
B El B DRI D A3 & D

et 1 kl.2k+1 0 x2k+1 oo x2k+1 x2n+3 1
=Tl =| > ( 2)k+1 < > Shtl = > 3 2nt3 1o
k=n-+1 k=n+1 k=n-+1

Lt 4=2n+3 EBLE, (U

zt 1000 — log, ¢

- < 1071000 1 _ 2 < 1071000, /)i ‘e > 10

= (1-2%) < D Lz — 500
ZHREFIF I, £>1000 755

1000 —logyo ¢ _ 1000 — log; 1000 _ 1426.39.. .

0.699 - 0.699
EB/BHDT, £>1427, 2%D, n>T712 TH%. =



